Exam II

Answer the next question(s) on the basis of the following two schedules which show the amounts of additional satisfaction (marginal utility) which a consumer would get from successive quantities of products J and K.
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1.
Refer to the above data. If the consumer has a money income of $52 and the prices of J and K are $8 and $4 respectively, the consumer will maximize her utility by purchasing: 

A)
2 units of J and 7 units of K. 
C)
4 units of J and 5 units of K. 

B)
5 units of J and 5 units of K. 
D)
6 units of J and 3 units of K. 

2.
Refer to the above data. What level of total utility is realized from the equilibrium combination of J and K determined in the previous question? 

A)
156 utils    B)  124 utils    C)  276 utils    D)  36 utils 

3.
Refer to the above data. If the consumer's money income were cut from $52 to $28, she would maximize her satisfaction by purchasing: 

A)
3 units of J and 3 units of K. 
C)
4 units of J and 1 unit of K. 

B)
1 unit of J and 3 units of K. 
D)
2 units of J and 3 units of K. 
Use the following to answer questions :
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4.
Suppose that the above total revenue curve is derived from a particular linear demand curve.  That demand curve must be:

A)
inelastic for price declines that increase quantity demanded from 6 units to 7 units.

B)
elastic for price declines that increase quantity demanded from 6 units to 7 units.

C)
inelastic for price increases that reduce quantity demanded from 4 units to 3 units.

D)
elastic for price increases that reduce quantity demanded from 8 units to 7 units.

5.
Suppose that the above total revenue curve is derived from a particular linear demand curve.  That demand curve must be:

A)
inelastic for price declines that increase quantity demanded from 2 units to 3 units.

B)
elastic for price declines that increase quantity demanded from 5 units to 6 units.

C)
inelastic for price increases that reduce quantity demanded from 4 units to 3 units.

D)
elastic for price increases that reduce quantity demanded from 4 units to 3 units.

6.
If a firm finds that it can sell $13,000 of a product when its price is $5 per unit and $11,000 of it when its price is $6, then: 

A)
the demand for the product is elastic in the $6-$5 price range. 

B)
the demand for the product must have increased. 

C)
elasticity of demand is 0.74. 

D)
the demand for the product is inelastic in the $6-$5 price range. 

7.
Suppose the price elasticity of demand for bread is 0.20. If the price of bread falls by 10 percent, the quantity demanded will increase by: 

A)
2 percent and total expenditures on bread will rise. 

B)
2 percent and total expenditures on bread will fall. 

C)
20 percent and total expenditures on bread will fall. 

D)
20 percent and total expenditures on bread will rise. 
8.Refer to the above diagram and assume that price increases from $2 to $10.  The coefficient of price elasticity of demand (midpoints formula) relating to this change in price is about:

A)
.25 and demand is inelastic.
C)
1 and demand is unit elastic.

B)
1.5 and demand is elastic.
D)
.67 and demand is inelastic.

9.
Refer to the above diagram and assume that price declines from $10 to $2.  The coefficient of price elasticity of demand (midpoints formula) relating to this change in price is about:

A)
.25 and demand is inelastic.
C)
1 and demand is unit elastic.

B)
1.5 and demand is elastic.
D)
.67 and demand is inelastic.
10.Which of the following generalizations is not correct? 

A)
The larger an item is in one's budget, the greater the price elasticity of demand. 

B)
The price elasticity of demand is greater for necessities than it is for luxuries. 

C)
The larger the number of close substitutes available, the greater will be the price elasticity of demand for a particular product. 

D)
The price elasticity of demand is greater the longer the time period under consideration. 
11.Suppose the income elasticity of demand for toys is +2.00. This means that: 

A)
a 10 percent increase in income will increase the purchase of toys by 20 percent. 

B)
a 10 percent increase in income will increase the purchase of toys by 2 percent. 

C)
a 10 percent increase in income will decrease the purchase of toys by 2 percent. 

D)
toys are an inferior good. 

12.
If the income elasticity of demand for lard is -3.00, this means that: 

A)
lard is a substitute for butter. 

B)
lard is a normal good. 

C)
lard is an inferior good. 

D)
more lard will be purchased when its price falls. 
13.Suppose that a 10 percent increase in the price of normal good Y causes a 20 percent increase in the quantity demanded of normal good X. The coefficient of cross elasticity of demand is: 

A)
negative and therefore these goods are substitutes. 

B)
negative and therefore these goods are complements. 

C)
positive and therefore these goods are substitutes. 

D)
positive and therefore these goods are complements. 

14.
Suppose that a 20 percent increase in the price of normal good Y causes a 10 percent decline in the quantity demanded of normal good X. The coefficient of cross elasticity of demand is: 

A)
negative and therefore these goods are substitutes. 

B)
negative and therefore these goods are complements. 

C)
positive and therefore these goods are substitutes. 

D)
positive and therefore these goods are complements. 
15. Which of the following constitutes an implicit cost to the Johnston Manufacturing Company? 

A)
payments of wages to its office workers 

B)
rent paid for the use of equipment owned by the Schultz Machinery Company 

C)
depreciation charges on company-owned equipment 

D)
economic profits resulting from current production 
16.
To the economist total cost includes: 

A)
explicit and implicit costs, including a normal profit. 

B)
neither implicit nor explicit costs. 

C)
implicit, but not explicit, costs. 

D)
explicit, but not implicit, costs. 
17.
Implicit and explicit costs are different in that: 

A)
explicit costs are relevant only in the short run. 

B)
implicit costs are relevant only in the short run. 

C)
the latter refer to nonexpenditure costs and the former to out-of-pocket costs. 

D)
the former refer to nonexpenditure costs and the latter to out-of-pocket costs. 
18.
Normal profit is: 

A)
determined by subtracting implicit costs from total revenue. 

B)
determined by subtracting explicit costs from total revenue. 

C)
the return to the entrepreneur when economic profits are zero. 

D)
the average profitability of an industry over the preceding 10 years. 
19.
To economists the main difference between the short run and the long run is that: 

A)
the law of diminishing returns applies in the long run, but not in the short run. 

B)
in the long run all resources are variable, while in the short run at least one resource is fixed. 

C)
fixed costs are more important to decision making in the long run than they are in the short run. 

D)
in the short run all resources are fixed, while in the long run all resources are variable. 
20.
The law of diminishing returns indicates that: 

A)
as extra units of a variable resource are added to a fixed resource, marginal product will decline beyond some point. 

B)
because of economies and diseconomies of scale a competitive firm's long-run average total cost curve will be U-shaped. 

C)
the demand for goods produced by purely competitive industries is downsloping. 

D)
beyond some point the extra utility derived from additional units of a product will yield the consumer smaller and smaller extra amounts of satisfaction. 
Use the following to answer questions 
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21.
In the above diagram curves 1, 2, and 3 represent the: 

A)
average, marginal, and total product curves respectively. 

B)
marginal, average, and total product curves respectively. 

C)
total, average, and marginal product curves respectively. 

D)
total, marginal, and average product curves respectively. 

22.
The above diagram suggests that: 

A)
when marginal product is zero, total product is at a minimum. 

B)
when marginal product lies above average product, average product is rising. 

C)
when marginal product lies below average product, average product is rising. 

D)
when total product is at a maximum, so is marginal product and average product. 

23.
The total output of a firm will be at a maximum where: 

A)
MP is at a maximum.    B)  AP is at a minimum.    C)  MP is zero.    D)  AP is at a maximum. 
24.
If you owned a small farm, which of the following would be a fixed cost? 

A)
harvest labor    B)  hail insurance    C)  fertilizer    D)  seed 

25.
Which of the following is most likely to be a variable cost? 

A)
fuel and power payments 
C)
rental payments on IBM equipment 

B)
interest on business loans. 
D)
real estate taxes 

26.
If you operated a small bakery, which of the following would be a variable cost in the short run?

A)
baking ovens
C)
annual lease payment for use of the building

B)
interest on business loans
D)
baking supplies (flour, salt, etc.)
27.Marginal cost: 

A)
equals both average variable cost and average total cost at their respective minimums.

B)
is  the difference between total cost and total variable cost. 

C)
rises for a time, but then begins to decline when diminishing returns set in.

D)
declines continuously as output increases. 
Answer the next question(s) on the basis of the following cost data:
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28.
Refer to the above data. The total variable cost of producing 5 units is: 

A)
$61.    B)  $48.    C)  $37.    D)  $24. 

29.
Refer to the above data. The average total cost of producing 3 units of output is: 

A)
$14.    B)  $12.    C)  $13.50.    D)  $16. 

30.
Refer to the above data. The average fixed cost of producing 3 units of output is: 

A)
$8.    B)  $7.40.    C)  $5.50.    D)  $6. 

31.
Refer to the above data. The marginal cost of producing the sixth unit of output is: 

A)
$24.    B)  $12.    C)  $16.    D)  $8. 

32.
Refer to the above data. The profit-maximizing output for this firm: 

A)
is 3.    B)  is 4.    C)  is 5.    D)  cannot be determined from the information given. 
Answer the next question(s) on the basis of the following information:
TFC = total fixed cost
Q = quantity of output
 MC = marginal cost
P = product price
TVC = total variable cost

33.
Refer to the above information. Average fixed cost is: 

A)
TVC - MC 

B)
MC


 Q

C)
TFC


  Q

D)
TVC


  Q

34.
Refer to the above information. Average total cost is: 

A)
TVC - MC

B)
TVC - TFC


       Q

C)
TVC


  Q

D)
TFC + TVC


       Q

35.
Refer to the above information.  Marginal cost is: 

A)
change in TVC


         Q

B)
change in TVC


 change in Q

C)
    P•Q    


change in Q

D)
change in TFC


 change in Q

36.
Refer to the above information. Total cost is: 

A)
the change in marginal cost. 

B)
TVC - TFC 

C)
TFC + TVC 

D)
TFC + TVC


        Q
37.
Suppose that the above total revenue curve is derived from a particular linear demand curve.  That demand curve must be:

A)
inelastic for price declines that increase quantity demanded from 2 units to 3 units.

B)
elastic for price declines that increase quantity demanded from 5 units to 6 units.

C)
unit elastic for price increases that reduce quantity demanded from 5 units to 4 units..

D)
inelastic for price increases that reduce quantity demanded from 4 units to 3 units.
